FHISAR7—)\HE BET

series

FACE MILL ARBOR(Type H) BT/BBTS/U—X
BT/BBT®-FMH®-©

» BV —)V—FF  Thru -the-tool Coolant Available

| FIG.1 | K | FIG.2 | [0
s il < oM

— Ll
Ji—s

I\ ‘Mr .......

e

waill
o R =z
MODEL = CODEBBT FIG. oD(6) L oC1 H W1 K1  GI P
CFMH16 -35 10014 | 201030 16 | 35| 29 | 16| 8 | 5 302
BBBTT33°0 s .37 35 10016 | 201032 | | 6 | 3 | 37 16 8 | 5| "8%30 | pcpgie
"FMH22  -47 -40 10018 | 201034 | 2 | 22 | 40 | 47 |18 10 5 | M10x30 3-¢3PCD.016
"FMH16  -29 -60 11940 | 240800 60
3 2105 | 11942 | 240802 T e R 3-¢2
"EMH16  -37 -60 11944 | 240804 60 PCD.¢12
1 2105 | 11946 | 240806 1 =Ee ) | B] B @ | el
BT40  FMH22  -47 -60 11948 | 240808 60
BBT40 2105 | 11950 | 240810 op | 105 I e s 393
"FMH22 60 -60 11952 | 240812 60 PCD.¢16
1 2105 | 11954 | 240814 o=l Bl B B Bl B
"EMH27  -60 -60 11956 | 240816 60 3-935
3 -105 | 11958 | 240818 2 Fem| 22|20 e | B MBS e g Tes
"EMHI6  -29 -60 14540 | 270940 60
‘ 2105 | 14541 | 270941 105 | 29
: 150 | 14542 | 270942 150 302
"FMH16  -37 -60 14543 | 270943 16 | 60 16| 8 | 5
1 2105 | 14544 | 270944 105 M8x30 | PCDel2
2150 | 14545 | 270945 150
: 200 | 14546 | 270946 200
"FMH22  -47 -60 14547 | 270947 60
‘ -105 | 14548 | 270948 105
2150 | 14549 | 270949 150 | 47
2200 | 14550 | 270950 200
; 250 | 14551 | 270951 250 303
"EMH22  -60 -60 14552 | 270952 22 60 18|10 1 5 | MIOX30|  pop e
‘ -105 | 14553 | 270953 | 105
150 | 14554 | 270954 150 | 60
2200 | 14555 | 270955 200
; 250 | 14556 | 270956 250
FMH25.4 -60 -60 14557 | 270957 80 s0s
BT50 105 | 14558 | 270958 254 | 105| 60 22| 95| 5 PC'E)¢¢'1585
BBTS0 150 | 14559 | 270959 150 SEele
"EMH27  -60 -60 14560 | 270960 60
1 2105 | 14561 | 270961 105
150 | 14562 | 270962 150 | 60
2200 | 14563 | 270963 200 M12x35
; 250 | 14564 | 270964 oy | 250 00l 12 | 6 3.935
"EMH27 76 -60 14565 | 270965 60 PCD.0195
‘ -105 | 14566 | 270966 105
160 | 14567 | 270967 150 | 76
200 | 14568 | 270968 200
; 2250 | 14569 | 270969 250
"FMH31.75 -76 -60 14570 | 270970 60
1 2105 | 14571 | 270971 105
150 | 14572 | 270972 150 | 76
200 | 14573 | 270973 200 M16x35 304
: 250 | 14574 | 270974 Sll7E =2 &0 =) 7 P.CD.¢24
"FMH31.75 -96 -60 14575 | 270975 80
‘ 2105 | 14576 | 270976 105 | 96
150 | 14577 | 270977 150
L HERI—HY BT A A7 —INTT . NOTE : 1. Face Mill Arbor for cutters with OH hole. ZiFEMHI ORDERING EXAMPLE
2. 1 THONIRAI 5> TR MEMEL TLE e T3 o6 dss ot ® @ ®@ @ ©
3. HEMI2.MI8) DTSV TRIL MhES UEEaE, > : : '
DS T BT M e Dessechoosesfable MBH-MIZ Mg bt o BT50{ FMH|| 27-[60 -/ 60
BRULKLEE, @ v IIBAX Shank Size
@ MR Holder's Name
® RRAEZE oD oD

— 72t YU ACCESSORIES @ A& oC1 i
® aLExL GL Length

88



